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E. None of the above %’ %

2. Given AABC with y=90°c¢=8.1, and b=2.8,

approximate angle ¢ to the nearest tenth of a degree. &) 2 Sﬂ
o 0< - “""’:"w ’
A. 19.1 \ C O& - Q(\' /
B. 70.9° %'

C. 20.2°

[ D. 69.8°

Pl 0 ’
X 7.8 O dﬁé{? 3&9

. None of the above

3. Given the indicated parts of AABC with y=90°, express the third part in terms of the first two.

A. c=btanf
( B. c=bcscp
C. c=bsecp

D. c=bcospf }Sf

E. c=bsinf - b(gc,p
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4. A'builder wishes to construct a ramp 39 feet long that rises to a height of 8.9 feet above the
level ground. Approximate the angle that the ramp should make with the horizontal to the
nearest tenth of a degree. j

A 135° $W\6LW 3¢
B. 12.9° 01 ;C,}-» 4 e 89

91

C. 12.6° / E,Oi G= S 24, )

13.8° & 3 &
(’W"None of the abov‘g /

5. Aladder, 27 feet long, leans against the side of a building, and the angle between the ladder
and the building is 36°.

If the distance from the bottom of the ladder fo the building is increase by 2.0 feet,
approximately how far does the top of the ladder move down the building? Round your
answer to one decimal place.

A. 1.0 feet r A

B. L4feet ’] /30 ’Zﬂ” 3
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6. Find all solutions of the equation using # as an arbitrary integer' secO=+2

A. 0=§—+27zn,9=5?”+27m Cag%*’”’ ‘Wftp \7}

B. 0==+2zn,0=""+2an — ~ y
4 4 s @ el + 2{ } If\ A '
/
_ 2 YA
C 49——+ﬂn,0—?+7m\\ ff%ffﬁf i //
«f"""le \\\ S ) ._.««—f/ ’y//
_uw"“”. T ‘M&n—‘ S
/E'.f; 0:£+27m, 6‘:_@27&
( — )

"E. No Solutlon -
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For questions 7 and 8: An airplane, flying at a speed of 450 miles per hour, flies
from a point 4 in the direction 150° for 2 hours, and then

flies in the direction 60° for 3 hours.
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7.  How long will it take for the plane to get back to point A?

Round to the nearest tenth of an hour.
i

VT‘T\\\ fw‘»
A. 3.4 hrs. PN - (\ L
,,,,, i L««)
" B. 3.6 hs. i > . Q
. _&'ﬁ:f;;ﬂ:”‘""m ’ ﬁv“ s V“
C. 3.8 hrs. ’

D. 3.2 hrs. ZI; -

E. None of the above

8. In what direction does the plane need to fly in order to get back to point 4?
Round to the nearest degree.

s ~

184°

296° o ( 19}
None of the above 77 &"‘; ) . M
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9. Find all solutions of the equation using » as an arbitrary integer:

3tan(2x—%)=3\/§
A. x=%+7m % ( Z?(w% )5«»\}"}’

B. x=24+Z, 0 gl VAN
- - = = - |
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X< 443+ 0N

w
D. x=—+7znn
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E. No Solution
- ’z:ﬂ';g!’\

10.  Find the solutions of the equation that are in the interval [O, 272') :

sin(2x + Z) =1
3

c B 2yrke Ty 2T
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E. No Solution
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11.  Find the solutions of the equation that are in the interval [O, 27r) :

sin’@+5sinf@+6=0

A 6=32 CSM@q'S)CSMé‘/'Z)./
B. 9:%,% : gb\é_;,l 0

- O
< ne+27 .
C. 0=-3,-2 W@fﬂ”—”:g S/ %6—-,«-
2r Arm S % T \
ﬂ.# No Solution____
12. Express as a trigonometric function of one angle:
cos31°cos 20° +sin 31°sin 20°
A. sin(11°) 5 o
B. cos(51°) CO SQ% } ...,_,_ZO

C. sin(51°

CGS("C

E. None of the above
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3 8
14. If ¢ and t 1 h that cosa == and tanf =—, then find cos(a+ /).
nd S are acx\;e angles such tha § . i) T (_(___’,QL

- (et CC ng gxw%g V\ﬁ

8 - Z /
E. None of the above - “"? fé’ 3/ / - g b
-24 -13 3}
15.1f tana =— and cscf =1 for QII angle o and QIII angle S, then find sin(a+ ).
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16. Find the exact value of sin(26) for cos@ = o 80°< 9 <270°.

_ - cc$ &
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E. None of the above
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17. Express as a cofunction of a complementary angle.

sin(52°42") — G C%?O) (‘ )

csc(37°58') %%0 \
o

cos(37°58") M é

D. csc(37°18") 5“"2," 41’

E. None of the above,.,.e~"

18. Find the solutions of the equation that are in the interval [0,27).

sint—sin2t =0

15 g}wz/vw

E. None of the above & ‘i &*5 C;.}
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